G 7
MATHE,

6x1: 6 w2t

Find the midpoint - fractions:

3
1) sL 7L
12572 P03
11
)(— 231) 36— 252
122776 13" 7717

5 (H.17) (o2 ot
54 11 25 72

47 5)
70" 3

3
7) (—, 62), 23— =
8 38
8
o (L) (1ot 2
5 21 26 51

ENIE
20 9

1 (-2 )
25
41 14 |

o (AL 14 (102 L
26 65 26 5
| 4

9 (L) (403
27 74) 3 42

71 1 2§_l
70°2) \"26° 29

17) (

Coordinates

2 [3=.2) (Z 252
54 28) (2177 29

17

4) (=22, 63), ( " %)
o[573) (35)
54" 20/ \23° 723

28 76
8) (——,—, 34— 62)
257 47 265

39 14 5
10) (— 132) —— =
55" 751 9°4

15 43
26° 26

B 2) (35
55 15

12) (—

83 2
14) (—— 31i) 21= —)
70" 69 8" 23

4 9
16) (= o), (= 172L
13° 13" 58

18) (2L 22) (-2 13
357 727) 257 20

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-

-1-



19) (2222, =
27’ 46

26 11) ( 67 31

21) (12§ 1) (5ﬂ 11

71 2 67

23) (262, 322) (322 -2
27" “39) \*6" 55
102
25) (261 192} (32
42 55) "3

27) (61, -2 (82,
720 23]\ T4

29) 2E 125 33, 17—
42 64

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-
-2

40° 24

3

23
30

|
=

|
-

11

20) (73— 56) (145, —1)
27 9

58

22) (35— 14—
71

71

302 31
29/ 61 8

62

24) (7i 213), (12@, - @)

26) (30X 8).
72' 7/

28) (2423 —
42

30) (62, 78)
9

2£ 36— 3
52" 72

L)y (&2t
52/ \49' 5

55 _17
58" 11



Find the midpoint - fractions:

y (1L 23 (5L 7L
23" 4/ 7100 3

337
3 38—
(46 24)
11
3) (2 231 (361 252
122776 13717
55
(181_ 242)
3127204

5 (L1717) (424 6L
54 11 25 72

(4 2221 553
2700° 1584

3 5

7 (2631 (232 2

8 38 7703
13 55
(12—.4—)
560" 228

o (L1 _13) (3L 38
5 21 26 51

(12 15

260 238

1) (2L 26), (-8 2
25° 20°9

39 .5
139 132
200" 18

41 14 1
13) (-2, -2}, (19>, =
26" 65 26" 5
(82_2
26" 130

1 4
15) (-4 1127 (-2 33k
2 )34

11 1529
(__‘ . 1‘29)
127 1554

o (L) 21
70 2 26 29

443 15
4557 116

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-

2 322 (& 252
s4'28) (217 29

PRI EIE
756" 1624

4) (=22, 63), (4L —l)

36" 26
R
72 52

6 (L6 72) (3,13
54" 20) \23° 23

511 . 7
(2484" 920

8) (== 2 (34—, 62
25°47) 726" 5

g
(16—‘ 7 42
1300° 235

39

10) (2 32 (-42

55°°°51)\ 974
( 419 7151)
990" 408

o (2.2 (36,2
55 15 26 26

171787 1787 697
2860° 780

83 2
14y (-2 311 ), (212, =
70" 69) |7 8723

53 38
10—, 15—
560 69

4 9
16) (-2 7
13 137 58
5
s
26 116

18) (2.22) (-2 1342
357727/ 25 20

62 359
175" 1080

-1-



o (2222} (-2 2)

27" 46 40° 24
10 1391, 845
2160° 1104

21) 120 1) (g4 ;3
71 2) \"67 55

0 82 171
4757 220
4
23) 26i 322 322——3
27 39 6 55
2923 1839
108 2145

102
25) (262, 12) (324
42 55 ) \"32

52 4
1344 110
o7 (6%, _B) (L83,
72" 23/ 45
2B 4
240 46
29) 2E 125 33,17— 23
42 64 30

1758 g1l
84’ = 1920

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-
-2

20) (732L, 56|, (142, -1
27’ 9
4323 o7t
54’7 2

22) (352,144 (3032 311
71729/ \7 618

33—,22
4331 464

( 704 293)

1
2y (12,213 ) (1222 1B
71762/ 759" 61

94135 4833
4189 7564

72’ 7 52" 72
( 1429 691)

26) ( 30°L 9) ( il 3637)

13———,18
1872" 1008

ey (2422 1) (241

42" 52| \49'5
1305 47
588 520

17
30) (62,78] (5>, -7
of \"58" 11

3323 31/
116"~ 99





